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INSTRUCTIONS

Read the following instructions carefully.

1. This paper consists of TWO (2) sections — Sections I and II.

2. There are six (6) questions in Section I and three (3) questions in Section II.
3. Answer ALL six (6) questions in Section I.

4. Answer ANY TWO (2) questions in Section II.

5.  Write your answers in the spaces provided in this test booklet.

6. Write proper statements and show all working.

7. If you are finished before time is called, go back and check your work.

8. Remember to complete the following on the cover of your answer booklet:

—  Student’s Name

—  School’s Name
— School’s ID
—  Student’s Number

9. Candidates are permitted to use the following materials:

— Calculators (Non-Programmable)
—  Geometry Set
—  Graph Paper (provided)
NO PROGRAMMABLE CALCULATORS MUST BE USED.

NO CELLPHONE CALCULATORS ARE ALLOWED.
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SECTION I
ANSWER ALL QUESTIONS IN THIS SECTION

Write your answers in the spaces provided. Show all working.

1. (a) Calculate the exact value of 3 % 52

=2}

(3 marks)

(b) Convert % to a percent. (2 marks)
(c) Express 6489 in standard form. (1 mark)
(Total 6 marks)
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In a class of 40 students,

14 students study French only,

8 students study both Spanish and French,

21 students study Spanish,

5 students do not study either French or Spanish.

(a) Complete the Venn Diagram below to show the information given above.

(2 marks)

(b) How many students in the class study only one of these languages?

(2 marks)

(c) What is the probability that a student chosen at random studies both French and
Spanish?

(2 marks)

(Total 6 marks)
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3. (a) Simplify the expression

3(x—-2)
(1 mark)
(b)  Solve the equation
6x —8 =16 + 2x
(3 marks)

(c) The diagram below shows a rectangle ABCD. The length of the rectangle is twice its
width. If the perimeter of the rectangle is 18 cm, calculate the value of x.

% 2x cm B
xcm
D C
(2 marks)
(Total 6 marks)
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4.

Packaged cookies are loaded in a box for transport to supermarkets and groceries
nationwide. The dimensions for both the packages and boxes are shown below (not drawn
to scale).

Package Box
10
10 cm
5cm
30 cm

o 50 cm
(a) Calculate the volume of a package. (2 marks)
(b) Determine the number of packages that will completely fill the box. (2 marks)
(c) Convert the volume of a box from cubic centimetres to cubic metres. (2 marks)

(Total 6 marks)
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(a) Using the graph above, state the coordinates of the points X, Y and Z. (2 marks)

A s Y s 5 &

(b) On the grid above, draw X ,Y and Z , the image of XYZ under a reflection in the y
axis. (2 marks)
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(c) A

3 -2 -1 1 2 3 4
-1

I i

zn‘

L LU

(¢) Describe the translation which maps AXYZunto AX Y Z . (2 marks)

(Total 6 marks)
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6. (a) The table below shows the preferred ice-cream flavours of 30 students in a class.

Complete the table below.

Preferred Flavour S:::I.e'::;s
Chocolate 4
Vanilla 8
Cherry

Kiwi 2
Pistachio 6

(b) What SINGLE flavour was preferred by 1/ 5 of the students in the class?

(¢) (1) What was the LEAST liked flavour?

(ii) What is the modal flavour?
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(2 marks)

(1 mark)

(1 mark)

(Total 6 marks)



SECTION 11
ANSWER TWO (2) QUESTIONS ONLY FROM THIS SECTION

(a) Mary travelled from her home to San Fernando and purchased the following items:

Item Cost

Dress $90.00

Shoes $120.00

Pants $100.00

VAT is charged at a rate of 12.5%

(i) Calculate her bill without VAT. (1 mark)

(i) Calculate her bill including VAT. (3 marks)

(iii) US$1.00 = TT6.80
How much US$ will Sita receive if she converts TT$3400? (2 marks)
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(b) (1) Using a ruler, a pencil and a pair of compasses only, construct triangle ABC
with AB = 9cm, angle ABC = 90° and BC = 6cm. Marks will be awarded for
construction lines clearly shown.

(4 marks)

(ii) Measure and state the size of angle BAC, on the triangle ABC above. (2 marks)

(Total 12 marks)
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8.

(@)

In the diagram below, not drawn to scale determine:

/

kY

20m
<

(i) the height of the mast AB.

(ii) the length of BC to the nearest metre.

11

(3 marks)

(3 marks)
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(b) The diagram below, (not drawn to scale) shows a park in the shape of a rectangle with
semi-circular ends.

80 m
140 m
park
(i)  Calculate the perimeter of the park (use 7 = =°). (2 marks)
(ii)) Express the perimeter of the park in kilometres. (1 mark)

(iii) If Joshua takes 10 minutes to ride around the track, calculate his speed in kmh™.

(3 marks)

(Total 12 marks)
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(a)

(®)

Joanne and Malika went to KFC. Joanne purchased 2 pieces of chicken and 3 portions
of fries for $69.00. Malika purchased 1 piece of chicken and 4 portions of fries for
$72.00.

()

(i)

(@)

Using $x to represent the cost of 1 piece of chicken and $y to represent the cost
of 1 portion of fries. Write down two separate equations involving x and y to
represent the information given above. (2 marks)

Using your equations from (a) above, determine the cost of one piece of
chicken, and one portion of fries. (4 marks)

For the relation f:x — 2x — 1, complete the mapping diagram below. (2 marks)

x—-2x—-1
0 > -1
1 > |
2 >
3 >
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2x — 1 on the grid

below

(i1) Use the mapping of x = 2x — 1 to plot the graph of y

(2 marks)

b IBESEERRAEEENEEE RS ERS *.r. T ERAER 4 ] L JH
B b4 N v + INEE .|_ IT - 4= .- . 4B 44 . - . l._...T
-+t R pa‘#l.lv.—. O R S B S —+ 41+ SRR - gt
BON RN D L 1 ﬂ,.; 3t O ] K 5 b i

1 u_... 1 R = + - begdedtd 1 “
e . -4 ﬁ ...wu. 5 1 v.*. el - - = .

I....«..;.T. ._...H ++4-4- Y L“_ i-+ 444 - e -4 s .

-+ 4-4 4 e + ....-.M . ﬁ*_+ T REEERR +4- - - et el |41

b de pdg g e g +4 + ..._| 44 4 ._.. 44 14 4 1 4

—_H + bt F. i 11 . 1 1

2.l P I 4 R R e " ISEEEES ——

R = u_.# ] ottty “+1- r..!.r._l - 4 b .. T H 1

eewe - TR W - T e + . .

s f s ISSENEAaREEE 44 o b i i i
e _ s _ ! ! s . e
A L - iSNEERE BN { |
e e - 44 b—q 4 ﬂ..". + . 1
r..._.wm.m - < LIl R - +
+ ! - H - . 1 : § +—} w = - 4 il i | At -

bt -] L L L ! ; J4-H4 E l
11 ﬁTr.; . AEEAR H B 6% 1 F | 111 R 1 | i

il 4 i + SHSEEEERES NS . - . { __ 1

R aEas I8 R RRa s : HH SESERSES : . :

T T 1 1 : L T
H1 ...‘—.H 44 ..“. ._m..!u. # : — ' _ +

" $ gt bdafes W O W . - . .

L - -+ &I..4J|.|H .._.l - _l S o 1 + :

1 1 | 11

W [ H I _ il T T “‘_ 1

| ! 1 | Il ! : i B

i 1 1T 1 i 11”...4|.“JI....I - 3 H | 11 1

1 11 T 1 1 H 1 1! 1
NI NEREE FEEEEERS N - : . 1 IBEE + !
' I — - . +—+ ; - —
ENEE 0 BEEES ] . ! ] T
B - SN SEEaN ENE RN  E K B8 O I i i
1 I T | 1 T T 11
i LL il . 1 1 Ll I —l
| LT 1 1 T 11 |n. g i
! INEN] 1 1 11 11 1

O ) T 1 P11 Ii
1 I ] 11 1 I e ] e . I 111 -

g} £ | Lil] 1 T T 1 11
Pt pr e fe e I 111 NG 1 ! 1] !
SSESSSifISSSItiiita: H HH ia2aas
= mmam=man: sammaasE = maaa :

BEER I L1 1] | . .“ 11 1 1 ; wa“ } .ﬂ 1
. il 1 2 ¢ 1 1 22)

1 Su 1 T 111 t T g 15 TT1 1 | T

T t = Y 1

_ . :d G I8 JTLYer " T.T:,r . _ﬁ__ ! 1 i i
1 _d_.sl.p_. 15 1 T EEESAR e . ”_ 1 4
HT— B 1111 11 I 11t H+ it HHHHH RN
R e T . H i +— = B + e .. e +
Eemmwnmsan 1 ! ! T T

uam . I SN R i + : s 3 ISRES B! s

T [ | { 1 T | 1T TIT |
FH et . : - 1 'y ' . + I I ot = SIS RSN ES B B
+ m__ Tt + 1 1 - =me - o o | b+ 1 1 ——- 1 1 11 9 .o_l_.l

1 T T T 1 T 1 1 1 T 1

Tt 11 1 1 T 1 1 c RN RS 1
RRsmuEumasamas ! HH HE 8 Spssasmaasssssasas.

. 1 T 1 1 b 21 I8 « » \RESEANEEERE] =
‘ ! T T 1 T T —ff - +

! ] ! Ll ! L Y 1 LT
+ + . -+-1+1 —t—
IsSeasEuEr ] I ! A~ c4RES - Slew
t u_ T =F T vt B R - 4yt
] 1 e T i 1T
] ! I 1 !
- - - : . + “ :
1 I 1T 11 1 1 11 1
J44 - H
: HHHHHHHHHHH 3
1 T
T
1
T
i

2x — 1 which passes

(iii) On the same axes draw the line parallel to the line y

(2 marks)

rigin.

through the o

(Total 12 marks)

END OF TEST
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